1

will be

(A) 15
: {B} 20

®2s Fegun ¥

-3

PART -1

GENERAL MATHEMATICS

The length of a rectangular field is
seven times its breadth. If the area of
the field be 252 m?. Then the length is.

(A) 40m
(B) 42m
(C) 44m
(D) 50 m
Split 23 into two parts such that the

difference of the squares of each part
is also 23. Then the two parts are

(A) 10,13
(B) 7,16
©) 11,12
(D) 8,15

A bag contains equal number of one
rupee, 50 paise and 25 paise coins
respectively. If the total value of coins
is Rs. 35, then no. of each type of coins

1270/GE - GJ/RCE ~ M
_ o= T -
1. TF mﬁmﬁaﬁrﬁwﬁzﬂﬁﬂ

7 1 e & | af A 1 A 252 a0

X 8, @ e grft
(A) 40 e

(B 42 e

(C) 44 it

_ADY 50
2, 23 vt # 38 wehr fanfora =0 B 4
Wi & T T SR g 23 Y, A TR A WM

L _},ﬁ%
(A) 10, 13 .p@-
_{B} 7,16 ) o’
11,12 N e e
VA?‘B 15 % %}Tt “
{ ) ' ) {?{? gfqb
! - W 0

3. ek &t o gum gE # 1§98, 50 4 qn
25 18 % e ) R . Ryawl = g
74 35 79 R, o el e R e g

<° oY%

| AXT 15 s ;L‘L”;

-D {820 v b - .93

-b.y‘? (C) 22 A . PENE e
(D) 25 O £
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: : oqreft 3 Forea H ur
¥ tl.: mmms_ of a mixture of milk and water, 4. 70 mﬁt@'«:‘ fopa eiet Tl
€ Quantity of water is 10%. How much 1 7er 10% © f 7 forerr Tl
Water should be added so that new affr faem foa S
Mixture may contain 25% of water ? gfea 25 L
(A) 10 litres (A) 10 T
(B) 12 litres (B) 12 #
(C) 14 litres (C) 14 it
(D) 16 litres o 16 e
' freral # Tehied ad1
5. Two equal glasses filled with mixtures 5 % WH AN u -1 :‘!ﬂ 1:1813R
of alcohol and water in the ratio 2 : 1 qreft &1 AT A 2 RO i
and 1: 1 respectively, were emptied into ﬂﬁﬂmﬁfﬁ?ﬁﬁﬁﬂﬂ
a third glass. Then the ratio of alcohol and el g fear ot A R e § St
water in the third glass will be o1 g =T SF9Td &
(A) 2:3 (A) 2:3
(B) 3:2 (B) 3:2
(Cr7:6 o (C) 7:6
(D) 7:5 | ,pﬂﬁ :5 |
6. Out of 5 boys and 2 girls, a group of @ wieghos wriwn % R 5 @i @
3 students is to be formed for a cultural 2 wefedi 1 @ 3 BTl 1 U 2 S Sl
programme. In how many ways, can 2, o 38 d =7 =97 foed weR @ o s
this group be formed, if at least one girl  wedl ¢ 3Rk T8 AW w0 A T U d9h!
is to be included in the group ?  FIENAEEFEL? L —L\ \
~(A) 20 S " (A) 20 5 i3y
{B};'J22' - (B) 22 -
C)'24 - - (C) 24 2
(D) 25 pres
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7. The HCF of two numbers is 12 and their
difference is also 12, then the numbers

are
(A) 120, 132 (B) 100, 112
(D) 84, 96

(C) 40,562

8. How many numbers greater than 5000
can be formed with four of the digits
3,4, 5, 6, 7 such that no digit is to be

repeated ?
(A6 (B) 72
(€ 75 (D) 78
9. lf2x+3y=5andxy=%.th&nvaluanf
8x3 + 27y3is
(A) 95 (B) 60 .
(C) 30 (D) 72
10. Sum of two numbers is 50. The fraction
obtained by dividing the larger number
by smaller number is g Then the
numbers are |
(A) 35,15 (B) 38, 12
(C) 30,20 (D) 28, 22
- 9 . "':-('0
Mﬁﬁ;,—'fi 1# - oD ﬂ::fé R

1270/GE - GJ/RCE-M

7. 2 wEms w1 weem weaed 12 @ ad
maimmmtaﬁil:mitﬁwﬁﬁ

Ay 120,132 (B) 100, 112
(C) 40, 52 (D) 84,96
B, a3, 4,5, 6, 71 & frf = 3Rt % w@m
A freref Y2 siemi w0 awd ¥ S
5000 @A & @ A Formid Fid oft 3% A
Keue ILE AR ;-'9
(A) 60 B2 3F 5
(©) 75 078 a9 )‘1 v
"L,..-
9. W2xsdy=smry=gRABS2 |
w1 WA B gl W
,[&}‘9'5 (B) 60 . ‘L.’)‘il—fﬂ
(C) 30 @72 17 ¢
. B X\
Xl

10. < Gl S 49m 50 @ | 9 € =
ﬁ\ﬁﬁ@l%ﬁﬂﬁﬂﬁ@m%,ﬁlﬁﬂ

%mﬂiﬁ%ﬁhaﬁ@ﬁﬁhﬂ

w

(A) 35,15 (B) 38, 12 gﬁg, ]

30, 20 D) 28,22 < /7

50 - 52
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R N B e =] 1
Rt 1mGE-E|ﬂHcE —--H
% -i-
| afd
18. The sum of three numbers A,BandC | 18 7 uenal A BT C w14 98 :
5
Is98.IfA :E=.3£ andB:C =.EE' then B A:'B= EE-HIHE C= —,ﬁﬂﬂﬂﬁm
. w{ﬂ_lga
(A) 15 (A) 15
(B) 20 ' (B) 20
(C).30 / o 2 A€ 30
(D) 45 (D) 45
19. The difference between simple and ' 19. fweht Uﬁl ¥ g anuw q TELE
compound interest on a certain sum of =7 afae 34 941 10% mﬁﬁm“ﬁﬂﬁ
money for 3 years at 10% per annum is @
g aftr grfh
Rs. 15 paise 50. Then the sum will be 5 wﬂ’ e
(A) Rs. 300 (A) 300 &
(B) Rs. 400 (B) 400 L0
(C) Rs. 500 k(CJ""'EOO L0
(D) Rs. 600 (D) 600 ¥7
20, felt itq #t see 3 2 et 2,50,000

20. The population of a town was 2,50,000
oft| 7fe SeEaT foa i gl 3 wE

three years ago. If it had increased by :
3%, 4% and 6% in the last three years, 3%, 4% AU 6% F WA T A, A IW T
then th t population of ; '
wﬁ;r;gepresan population of the town G ma—

(A) 268,524 ) (A) 2,68,524

(B) 268622 o/ % ' (B) 2,68,622

(C) 2.8&&5? gf# Y \"ﬂ ,83,868

(D) 2,83,88 '

e Cﬁﬁf{" (D) 2,83,886
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21. By selling an article for Rs. 450, a man 21, UF TR W 450 7 # I | v vl
loses 25%. At what price he should sell 25% = Tif 2l B | g P Frm e a=h
rtic ‘
the article in order to gain 25% ? st % Tm sl T 25% W e B 7

(A) Rs. 650 (B) Rs. 700 )@'}’350 5. _{py'700%.

(C) Rs. 750 (D) Rs. 800 (G) 7507%. (D) 800%.
-
22. The cost price of 25 pen is equal to the 22, S5 AT 20 F I F
selling price of 20 pen. Then the gain s § | @ ey whema g
percent will be
(A) 15% (B) 18% C(A) 15% (B) 18%
(C) 20% (D) 25% ) 20% ﬁ%

23, Amansells abookata profitof 20%. If | 23. T safa U G @ 20% @ H A= |
he had bought it at 20% less and sold it e g 20% FH TW H T e 90
for Rs. 18 less, he would have gained 18 3720 &1 # =N s 9 39 =R =1 25%

25%. Then the cost price of the book is Hﬁ'ﬁmj A1 I w1 % I
(A) Rs. 90 (B) Rs. 100 //,cﬁr’gomﬁ (B) 100 ¥
(C) Rs. 80 (D) Rs. 120 (C) 807 (D) 120 %3

| 24. A discount of 16% on the marked price 24, UH forae & @ H 16% T T 8 W

of a book enables amantobuyapen | T fR 80 T ¥ Uw W i @i v
that cost Rs. 80. Theamuunthepald AT eI msad
for the book is . b ﬁﬁmw%mm? |
(A) Rs. 420 (B) Rs. 480 /(A) 420 T (B) 480 ¥
(C)-Rs. 500 (D) Rs. 400 _(C) 500 ¥ (D) 400 ¥R
A
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25. A Conical tent €an accommodate

t:f ;ir to breathe, If the radius of the tent
m then the height of the tent will be

(A) 24m (B) 281m
(C) 26 m (©) 20m

6. In the given
rectangle. It
Semi circles
5 ecm. Then

region will be

figure A, B, C.Disa
consists of a circle and two
each of which are of radius

the area of the shaded

1270/GE — GJ/RCE—=M

H
i #mmﬁﬁﬂm
25,

f:fn?mamtmmﬂﬁ*“ﬁ@

mmmmﬂaﬁwﬂ?ﬁam&
32 1 P 7 Mt A, A g FE TN
(A) 24 et (B) 28 Het
(C) 26 et (D) 20 I

=10-

06 Rt RradiA, B, C, DG A ® |

W‘q’ﬂﬂﬂ?ﬂﬂdﬁﬂtnﬁaﬁfﬁﬁm
5 2. 2 @ n=3.14 g w1 B

Srifa W w1 fhe 31 |

(Use I_: 3*1'4}

N

A B
1) 50sq.cm. (B) 45sq.cm.
) 43 sqg.cm. (D) 40sq.cm.

man travels on a bike from station
) B at a speed 30 km/hr. and returns
k at 20 km/hr. Total journey took
rs, then the distance between

ons A and B is
00 km
10 km

(B) 120 km
(D) 150 km:

C

e
NN

(A) 50 = .41, (B) 45 =i 4.4i.
Msarfﬂ.:ﬁ. (D) 40 = A7,

27. T JEH R AR A BTH
30 f.#1. /5ier ¥ 71fd & A= a1 € ad
20 fi. . /eer &1 ifa & amoE wtear @ |
afe o amn & 10 W & & A LA
Awn BR A= F g En -
(A) 100 fa. . )B)”'1 20 ..
(C)140/f%. . (D) 150 fo.H.
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28. The average temperature on Tuesday,
Wednesday and Thursday was 37°C.
The average temperature on
Wednesday, Thursday and Friday was
38°C. If the temperature on Friday was
39°C, then the temperature on Tuesday

will be
(A) 35°C (B) 36°C
(C) 37°C (D) 38°C

29. Areduction of 25% in the price of sugar
enables a person to get 10 kg more
sugar for Rs. 600. Then the reduced rate

of sugar will be
(A) Rs. 20 per kg
(B) Rs. 18 perkg

(C) Rs. 15 per kg
(D) Rs. 12 per kg

The side of a square is increased by
10% then the area of square will be

increased by
(A) 20%
(B) 21%
(C) 22%

30.

1270/GE - GJ/RCE-M

__"-_d

28. AR, qUAR au TEE * B @ shwa
A 37°C ¥ a9l A, THER UE {HHER
¥ i w sftma mam 38°C ¥ 14l EFan
1 AMuE 39°C ¥, o TeEan F aEE

wm

(87 36°C

(A) 35°C
(D) 38°C

(C) 37°C

29. ¥Rt % Tm i 25 wfer < frae 99 3
oo =fiaa 600 %941 # 10 form, werwt st
@iig w1 B | @ T U g aH ae

(A) 207%. wfeaferm,
(B) 187%. ufa femm.

;;{Gﬁﬁ'ﬁ.uﬁﬁm.

(D) 12%. ufafemm.

30. ﬁa#aﬁaﬁgm 10 Wit @g1 < <t @,
1 % et  fope e R e rsmef 7

(A) 20%
21%
(C) 22%

(D) 18%

fp; 18%
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f ' GENERAL KNOWLEDGE

In 2017, cultural festival India by Nile
was organised in which country ?

(A) Egypt
(B) lsrael
(C) Iran .
(D) Afghanisthan

[ a1,

32. Which of the following is declared best
film in 89" Oscar awards ?

(A) La La land

(B) Moonlight

(C) Fans

(D) The Salesman

33. Asia's first biosphere reserve is

(A) Sanjay National Park

(B) Udanti Sanctuary

(C) Kanger Valley National Park
(D) Achanakmar Sanctuary

34. Giroudpuri Dham is famous for
(A) Pilgrimage of Kabir Panth_
(B) Pilgrimage of Satnami Society
(C) Pilgrimage of Vaishnav Society
(D) Pilgrimage of Jain Society

B T e -

PART -

~

1270/GE — GJ/RCE =M

2
AT 7

31, 2017 ¥ wigpfw sewa i a4
vt e 3 3 far 7 7
(A i
(B) Forrsel
(C) T
(D) FrFafIETA

32, 89 siter g i Hifta ) 7§ FHAD
e R d AR ?
(A) eSS
| ST
() =
(D) & dwia

ofirn &1 won sraifesa fred wtfva

farar mn

(A) 9= TR IaH
(B) Fawft vaARoT

(C) FiR Tt I Fem
(D) ITEHHAT SR

34. firdegd am uftg 2
(A) whelR et 1 ofted @
(B) T T 1 oftel Tue
(C) dwra wart el T
(D) ¥ Hyer 1 i T

33.
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35. Outofthe following statement the wrong
one is

(A) In India orographic rainfall mostly
occurs :

(B) Most part of the country gets rainfall -

from Bay of Bengal

(C) Winter cyclones originates from
Mediterranean Sea

(D) Wind move from land to sea in
summer season

Which of the following is a winner team
of 2017 Mens Hockey Asia Cup ?

(A) South Korea
(B) India

(C) Malaysia
(D) Pakistan

36.

Srikanth Kidambi is a player of which
of the following game ?

(A) Tennis (B) Chess
(C) Badminton (D) Cricket

37..

- Which of the following number of teams
have participated in FIFA-U-17 World

Cup ?
(A) 8
(C) 20

(B) 12
(D) 24

1270/GE - GJ/RCE-M

35. Peflen # 3 9 o FwE @@ § ?
AR) T # sftriera: wefrgpa et g 2

(B) et 1 Trdh & 3w s sferi vt &
auf gl B

(C) Tr= wrefiA wihardl 1 Ieafe Jaes T
o Feht B

(D) WerFTe # T T @ GPR i H
=Terdl 8

36. U gEe gife ufaaifia 2017 i =
MATRE?
~ (A) FR3Y i
. T
(C) weifirn
(D) i

37. = fmidftmeas
fawrdi 8 7
(A) 2w

ty;z)/ﬁ:sﬁm

(B) Tt
(D) e

38. THH-g-17 fawa =9 ¥ W <1 O« dmi
Fwen A et ?

(A) 8 (8) 12
© 20 fof 24
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39. Match the following :

a. Shankh Ghosh 1. Marathi

b. Radhuveer 2, Bengali
Chaudhari

c. Balchandra 3. Gujaratl
Nemade

d. Kedarnath Singh 4. Hindi
a b e d

A) 2 3 1 4

B) 2 3 4 1

5 8 -291:° 4

(D) 3 2 4 1

Who amongst the fallowinﬁ is-a writer
of novel One Indian Girl ?

(A) Kiran Desai
(B) Vikarm Seth
(C) Chetan Bhagat
(D) Amitabh Ghosh

Which of the following prize was given
to Sidhartha Mukherjee ?

(A) Hugo award

(B) Guardian first book award
(C) Costa book awards

(D) None of the above

41.

1270/GE — QTS

-14-
39 gﬁﬁﬂa;:ﬁﬁ# 4, 7El
o e 2
o, SR T ok
)  fem 4.%'
gt b .10 8
w2 314
| 2 3 4 1
o 32 1 4
40. ot e e T AT & e

41. _mwﬂﬁﬁnﬁﬂmwﬂ
armme?
(A), R G
/(B}Tna‘l’awmgﬁwﬁ
(C) FIeT 9% JREFR
(D) It & & g el

Scanned with CamScanner



.42. The term “Siderosis” means
(A) Excessive deposition of iron in

(B) Deficiency of iron in body

(C) Excessive deposition of calcium in
body

(D) Deficiency of calcium in body

43. Arrange the sequence of foods as per
their Vitamin ‘C’ content.
a. Guava
b. Amla
c. Orange.
d. Pineapple
(A) a,b,d, ¢ (B) d,c,b,a
(C) a,b,c,d

(D) b,a,c,d

44. Food sources of Vitamin B,, are
a. Dairy products

b. Fish and meat

c. Egg and poultry

d. Fruits and vegetables

(A) bandc

(B) a,band ¢
(C) aandd

(D) a,b,candd

-15-
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“Rrztftra"’ = areqd @ @
(A) TR 7 Eig-tca =1 Acaius sWa

42,

(B) ik # sfitg—a i =t
(C) 7l 7 K =1 arcafis s

(D) ikt ¥ Hfetram =i wdfi

43, fafim 'C 4 % AR = =
I Tl w9 1 s |

a. HHEg

b. Ffaen

c. Hau

d., s=mE
(A) a,b, d, c
(C) a,b,c,d

(B) d,c,b,a
(D) b,a,c,d

44, faafin B, % @@ @@ &

a. v gard

b. "&e T e

c. ¥z vd fya

d. a1 @ sfeml

M bwEc

(B) a,bTWec

(C) awa d

(D) a,b,cwE d
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45.

46.

47.

. From which of the following site of the
Indus Valley Civilization the evidence
of a furrowed field has been found
during excavation ?

(A) Lothal

(B) Kalibangan
(C) Chahundado
(D) Dhaulavira

During 6'™ Century B.C. the town
Suktimati was the capital of which of
the following Mahajanpad ?

(A) Chedi (B) Vatsa
(C) Kamboja (D) Sursena

During the reign of who of the iﬁlfnwing
Parthian king St. Thomas came to India
in Ancient times ?

(A) Menander

(B) Rudradaman |
(C) Gondophaes

(D) Kujula Kadphises

Which of the following is a treatise on
Tamil grammar during the Sangam Age ?

(A) Pattinappalai
(B) Maduraikanji

(C) Silappadikaram
(D) Tolkappiyam '

gl ®?
JN et
(B) T
() &=
(D) e
4. {9, ﬁﬂ-mlﬁwm |
5 & frq ARG Y TR o1 7
) 3R (B) o4
(C) Tt jﬂ(‘[@q
47. mmﬁﬁﬂmﬂ%mqﬁm
T & T A AT R ST o {
LAY HATRET
(B) %HemA WIH
(C) Tigrwa
(D) Fgen FefFeg
48, qn § Pl 3 3 wE b
ST 9T UH WE Y o1 7
(A) ufezToret
(B) wgtsf

- (C) Toeafdwy
(DY Aoy
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49. Who of the following revolutionary had
defined socialism in scientific manner ?

(A) Chandra Shekhar Azad

(B) Bhagat Singh
(C) Bhagavati Charan Vohra

(D) Surya Sen

50. Which of the following was not the
background of the Quit India Movement ?

(A) The failure of the Cripps Mission

(B) The arrival of Japanese armies on
Indian border '

(C) The rising prices and shortage of
food supplies
(D) The Constitutional breakdown

51. How many members were in the
Cunstihm_nt Assembly established in

1946 7
(A) 280 (B) 345
(C) 385 (D) 400

52, Which statement is correct about
‘Agriculture’ in Indian Economy ?

AT A backbone of the economy
(B) Animportant sector of the economy .
(C) Major source of livelihood of people

(D) None of these

1270/GE - GJ/RCE-M

'49. Fm=fefaas § A fra wifdsi 3 gamER it

P aiFammm R of 7
LAY T e

(B) wrafés

(C) vrrardht =or Ergq

(D) ¥d &

50. WA WIS ider i gefy § P
R Fn A @ 7
(A) forem s ) fawerar
(B) i € W S SIS # AreE

(C) waeh shierd e e Sy o o
(D dAeh R
51. 1946w shuie o R a4 ?

_4BY 345

(D) 400

(A) 280
(C) 385

52, wRdlg et ‘S’ & wara d e
Ifmu adl 2 7
(B svlezaen A {g
(B) srefomaean 1 G HEeI gyl &
(C) =it it sfiferent =1 woy@ Wi
(D) it & ré el
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53. Which is the biggest component of
Foreign Currency Reserve in India ?

(A) Foreign Money Assets
(B) Gold Haserve
(C) Reseve Fund to IMF

(D) SDR

54. Ro Ro Ferry Service is the biggest
project of
(A) South Asia
(B) South East Asia
(C) West Asia
(D) North Asia

55. How many female poor families are
provided Gas-connection till Oct. 17
under ‘Ujjawala Scheme' in this State ?

(A) 15 lakh

(B) 17 lakh

(C) 5 lakh 26 thousand
(D) None of these

56. Oct. 2014 to September 2017, “Invest
India” brought in Foreign Investment

worth of dollar.
(A) $ 43 Billion
(B) $ 7.4 Billion
(C) $ 35 Billion

| afeert gRE
b

' 0017 o faaat Tfeen
o bt il e gt
N FEm R gH e ?
(A) 15¥1@
(B) 17 @
(C) 5 26 TR

By w1 {1 T

56. R 2014 ¥ Rww 2017 & ‘TR
3’ 3 3w RReh Plw e
Siert|
(A) 43 fafera s
(B) 7.4 fafcm e
,(Crasﬂ'ﬁ?mm
(D) 3 & #1E &

(D) None of these
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57. What is correct about proclamation of
emergency under Article 352 7

i. The advice of Cabinet should be
written

ii. It should be passed by Parliament
by %4 majority

i It should be passed by simple
majority

iv. It should be passed by Parliament
within a period of one month

v. It should be passed by Parliament
within a period of two months

vi. President suspends Article 19 by

an executive order
vii. Article 19 is automatically
suspended .

. el

(A) i ii i wii *
B) i iv v i
(C) i ii iv vii
(D) ‘i iii vV Vi

-19-
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57. ¥g=da 352% AN ST ) IgEEON
FRmdadimnd?

i. nfEmves w1 qomel fRiftaa g =nfig

il. 78 Wag ¥ g 24 wgwa ¥ Wi 8
=fey,

~ lil. 9% H6g % 0 WYRe 9gHa ¥ i
B =R

iv. % TEE % T T Wre 6 Ety F
- fier wifta g =feg

V. T8 EEY % BT A AR < v F e

vi.trgﬁqamﬁ?ﬁ RN F T
gz 19 W Freife e @

vii. 317w 19 wa: Feifem & s ®

A 1

il i
® 0 W v W
@0 i v vi
@) i Wi v i
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58. Whatis correct about the term ‘officeof | 58, ‘@M ® T T1=
the profit' ?
51 72 A ziferr AR
I. The expression office of the profit I, >
is not defined in the Constitution ¢l e T
wfufraa 1951 1
ii. It is defined in Peoples il u® srafafAted
Representation Act 1951 afesnfiver P 7T &
) @™ 2
ii. It means pecuniary gain i, eent 1% 5
iv. Itincludes the salary iv. gad aaH afefrd 8
v. Itincludes remuneration v, @i qieEfs wfdfd
vi. Itincludes compensatory allowance vi. Zai gfishues sy Afefd @
vii. It includes honourarium vii. 3ai ey affed 2
A i i v i A i di v vi
B) i v vi vii ® i v i, vil
(C) ii i v i : ey i i v i
©) i i v v O i Qi v v
H".
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59. Atwhich of the following place the first
‘Rashtriya Vidyalaya' was founded
during the Non-co-operation Movement ?

(A) Raipur

(B) Bilaspur

(C) Rajnandgaon
(D) Dhamtari

60. Who of the following was the pioneer
of labour movement in this state ?

(A) Pt. Sunderlal Sharma
(B) Thakur Pyarelal Singh
(C) Ghanshyam Singh Gupta
(D) Pt.Ravishankar Shukla

By which of the following name the
Bastar Revolt of 1876 is known ?

(A) Halba Revolt
(B) Maria Revolt
(C) Muria Revolt
D) Bhumkal

Vho of the following established a
ranch of ‘Kabirpanth’ in this state ?

) Agamdas

) Muktamanidas
Dharmadas
bhirajdas

=21«

1270/GE - GJ/RCE-M

50. aHEAN MiEEE ¥ 2 W U9 H

Presiferfera 7 @ fre 2o v wam T
foramern” zenifira frem o 7

JAY Tt

(B) Rremaryt

(C) TrsrmETA

(D) wrrerd)

freififra 1 A #5347
(A) 4. Hatere Tl
(B Tt witee e
(C) =z &z T
(D) 4. e g

1. frefafaa 1 @ forg am & s 1876 =1

iR S sTar? ?
A T Tae
(B) =i fazie
(C) Fien famre
(D) e

frefofaa § & frem 30 Tsa 8 ey’

=1 U= YIT@T <hl TATET 6l 7

(A) e

By wFamftreT
(C) tniferg

(D) Hiee™
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63. Man Booker Prize Winner George
Saunders is a writer of which of the
following country ?

(A) Britain
(B) America
(C) Germany
(D) France

. In which of the following state
Deendayal port is located ?

(A) Gujarat

(B) Maharashtra
(C) Tamil Ngdu
(D) West Bengal

Shashi Shankar is the Chairman of
vhich of the following ?

4) N.T.P.C.
3) B.H.E.L.
) O.N.G.C.
| None of the above

' Tarasa is included in which of the
wing force 7

Armed force

\ir force ™~
aval force

one of the above

o5, uft e P 2 Pt A & 7

(A) @219
(B) sft.ga.i.e.
(Cy s S
(D) 350 & A FI§ Tl

66. Té.uA. g, aran w e & o A
wnftrer femagn a7
EGK:G!
(B) /g &

ey

(D) 3vtted & @ *1E &l
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67. Venus satellite was launched by which
country ?

(A) Russia
(B) France
(C) Israel

(D) Britain

68. Which of the followin
g mobile app is
developed by Indian Army in EOTgp?

(A) Hamsafar M
(B) Hamraj

(C) Surakhsa

(D) Target

69. 10C declared which of the fnﬁk;‘;‘wing as
the host’of 2024's Olympic games ?

(A) Los Angeles
(B) Paris

(©) Tokyo
(D) New Delhi

“,
70. In which of the following express way,
Airforce conducted war rehearsal ‘?

(A) Agra — Lucknow
(B) Ahmedabad — Badodara
- (C) Jaipur — Kishangarh

(D) Mumbai — Pune

1270/GE - GJ/RCE-M

67. dFa Iume w1 waw fRa 2 S T e

69.

- 70.

T ?

AAT w0
(B) wig
(C) =z
(D) forea

= 1 @ #7201 79 ey @z fasfia
HERE R ?

(A) TR

(B) &=

ey gun
(D) 2T/

i 3 e 2024 & SieiRE T
Terar & 1 g AL d@L A F R ?

(A) &iTg wafem

- (B) @
(C) =

(Pra feeh

= 1 @ forw e @ AR A IR

ey fF 7

(A) AT - TEAH

(B) sreverR - w@ew
(C) AR - frrrme

(D) 5§ - 90
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71. In 2017, Angela Markel wins election 71. 2017 A 33 fFE 7
for fourth times belong to which of the sriket FH
following country ? (B) e
(A) France (B) Britain (A) :E (D) gl
(C) Germany (D) Italy {G_J .
72. Which of the following country started 72 : 4 v 2w 3 R0 27
operation Insaniyat for Rohingya &l IRH =
refugees ? (B) HER
(A) India (B) Myanmar /Mw (D) =
(C) Bangladesh - (D) China (€) FrenE
. FfpmindfRE?
73. Hambantota port is located in which of 73, g 0 A 3
the following country ? '
(A) China (B) India A “(B)iwe
(C) Pakistan (D) Sri Lanka (C) wfthe By st
"4, India signed an agreement with which 74. wHIE FEARI #t agfd ¥ TRA a o
country for the supply of Kamov 391 3 91y g fraTe ?
helicopters ? ~
(A) America (B) France (A) smfemt (B) w14
(C) Israel (D) Russia (C) T=rEe (p‘)/ L33
. Which of the following country will host 75,- 2018 # =rm ) AeErh B F @ B
(A) AL.rst.ralfa (B) India (A) IRRE - (B) W
(C) Britain (D) Malaysia () frdm ,(D')‘ TR
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76.

Match the following : 76. Pl # wie Fifved -
River Tributary River L AgTaS T4
a. Indus 1. Yamuna a, foy 1. aga
b. Ganga 2. Amravati b, Tm 2. s
¢. Brahmaputra 3. Vipasa c. WEYA 3. foara
d. Kaveri 4. Rangit d. Fad 4. i
a b ¢ d a b ¢ d
A) 3 2 1 g4 A 3 2 1 4
B 3 1 4 2 B 3 1 4 2
€ 3 4 1 2 ' € 3 4 1 2
D) 3 4 2 1 ~— D) 3 4 2 1
77. Cause of soil pollution is 77. T SEH 1 HA }
(A) Gully erosion " (A) e Fe
(B) Green revolution (B) &fta wifa
(C) Fellow land o I (C) Tt wifr
(D) None of the above oY, - (D) Tt & ré et
78. Chipko Movement is related to 78. fuwe! aridem 1 wEa R
(A) Forest production (A) ST
(B) Conservation of forest ‘(gf S T
(C) Deforestation (C) =7 famm
(D) Wildlife protection . WEREIEE:C L

Scanned with CamScanner



-

79. In which game Duckworth Lewis rule

is followed ?
(A) Tennis (B) Hockey
(C) Cricket (D) Football
80. Match the following :
a. Jasvir Singh 1. Cricket
b. V. J. Surekha 2. Hockey
c. Harmanpreet Kaur 3. Kabaddi
d. S. V. Sunil 4. Archery
a b ¢ d B

(A) 1 2 3 4

(B) 3 4 1 2

C 3 4 2 1

(D) 1 3 2 4

81. Who is the recipient of Nobel Prize of
2017 in literature ?

(A) Richard Henderson
(B) Richard H. Thaler
(C) Kazuo Ishiguro

(D) Jeffery C. Hall

> The name of winner book of 2017, the
Man Booker Prize is
(A) Lincoln in the Bardo
(B) History of Wolves
(C) Exit West

(D) Eimet

1270/GE — Gu/mwe=—m

79. W‘fﬂwmﬂﬂwﬁmﬁaﬂm
a7
(B) EHI
ivy A
T g 1. e @
a.
b, =), A T 2'!1:31.
Gmﬂm S‘HE'T\_'n' }
d. v, = g "
a b ¢ d
w1 2 3 4
® 3-4 1 2
el 3 4 2 1
o1 3 2 4

g1, 2017 % afee % g Heet FoEpR £ 7

afFdyagene?
(A) f=d g=tE
4By . AR
(C) et s
(D) S €. &

82. a&ﬂzgmgmnzowamﬁamwfﬂ

a2
(A) ﬁ‘ﬁmﬁd’rmﬁ
(B) fe=dt aife dlea®

(C) Ui 3=
(D) T2
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83. Which element is coated on the inner

surface of fluorescent tube to produce
fluorescence 7

(A) Magnesium
(B) Phosphoryg
(C) Potassium
(D) Chromium

84. Which material is a good conductor of
heat bl.ltahadl'-‘omluctornl electricity 7

(A) Thermocol
(B) Mica

(C) Fiberglass
(D) Mineral wool

85. Which of the following substances are
emulsions 7

a. Cream

b. Egg yolk "
e. Milk y
d. Fruit juice

(A) a,b,d
(B) a,c,d

(C) a,b,c
(D) b,c,d

— e — — e ——

1270/GE - GJ/RCE - M

83. WIE Z % sHiaf T W T A
¥ fordt P v i o e & 7

S tfiem
(B) wrErern
(C) wrzifirm
(D) wiftpm

84, e vk s  garers 3 P P
Farers 8 7
ST witE
(B) v
(C) e T
(D) e 9@

85. ¥ AR @ra e 95E (emulsion) & 7

a. |
,ﬁimﬁmm
c. 38
d. %l F1 ™
(A) a,b,d
(B) a,c,d

(erane

(D) b,c.d
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g6, Hd # Iaw T B

86. The best quality coal is Ty
(A) Lignite (B) Anthracite (A) fermarge =
(C) Bituminous (D) Pea Jof fgfira ke
87. The Newton's first law is also known as 87. =z w1 wam fran e §
(A) Law of friction 4AS o 1 e
(B) Law of inertia (B) S 1 P
(C) Law of moments (C) e e
(D) None of the above (D) 37 & 3 7l
88. Spectacles used for 3 D films ﬁpve gs. fafafim ot 3w & forg et - L
aHa g ? @) :
(A) Polaroids (A) drS -
(B) Concave lens (B). 3w -
(C) Iv &=

(C) Convex lens | .
W ad

(D) Bifocal lens
89. The density of water is maximum at the 89. T o A T ATGHH R ST A g ?

following temperature .
(A) 100° C . (B) -100°C . LAY 100°C (B) —100° C
(C) 4°C (D) —4°C (C) 4°C (D) -4°C
90. Who is the Chairman of Indian Space 90, W1y Siafe IR TRYE % G B
" Research Organization (ISRO) ? 27
(A) K. Kasturirangan _ (A) F. FEH
(B) A.S. KiranKumar _BY U, . for gam
(C) Shailesh Nayak (ORIGHEE
(D) %. TUFWH

(D) K. Radhakrishnan
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Peshwa Baji Rag || and the British East

India Company 2
(A) 1782 B 1082
(C) 1812 (D) 1818

92. Who of the followin
gwas the key figure
of Andhra Social Reform Movement ?

(A) Alluri Sitaram Raju
(B) Narsa Reddy

(C) P. Sivalingam

(D) Veeraselingam

93. Atwhich of the following place in Bihar
the leader of the Revolt of 1857 Kunwar
Singh died ? -

(A) Arrah
(C) Jagdi_shpur

(B) Muzaffarpur
(D) Purnia

94. Under the leadership of who of the
following peasant riots occurred in the

Rae Bareli, Pratapgarh, Fyzabad and
Sultanpur districts of U.P. during the
Non-cooperation Movement ?

(A) Baba Ram Chandra
(B) Madari Pasa

(C) Ram Kumar Shukul
(D) Govind Vallabh Pant

1270/GE - GJ/RCE-M

Prffaa 3 & fra ad # Yvan asfioa fda
sin e = i s & <= AfE A
wfty ay gEne g 7

AXT1782

(C) 1812

92, Y FH FUR AiEe F &I T
' Pefsfrmdd e a7

Ay Sreglt Hiamm T

(B) rwan &

(C) . Ryafémy

(D) =frrafermy

93. 1857 % g % @ S fie i g feem
i frerferfea # & frg o A gl 7

{BY TR
(D) i

o1.

(B) 1802
(D) 1818

(A) s

(C) Sriarg

94, IR ST F A II TN H
foret % Pr=forfae o @ fres S i 5
age? - ' -
(A) == THeg
(B) ==l U™

(C) TFHR Pt

Dy Mz acay va
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95. What is the rank of India in Global

Hunger Index 2017 ?
(A) 97th
(B) 99t
(C) 100"
(D) None of these

96. What minimum support price for paddy
is declared by Government of India for
the year 2017-18 ?

(A) T-1,500 per quintal
(B) T 1,550 per quintal
(C) T 1,850 per quintal
(D) None nl; these

Which is cheapest way for transporting
goods in India ?

(A) Railway
(B) Roadway
(C) Waterway

-30-

[ - 2017 H o7 h1 M a1
g5. AT T

27
(A) 977

8 99

) 1004l
Mﬂﬁﬂﬁﬂﬂ

96, T W % T A 2017-18 % e, M
! ; @w;ﬁﬁaﬁ;ﬂ'{ﬂmt?

(A) s fRizat T 1,500
ﬁ{uﬁfﬁzaﬁ,sso
- (c) ufe fes ¥ 1,850
(D) T & w7

o7. vira i awgeit w1 ahaEd FO % g Tl
ge e R ?

AT Y

(B) wewww

(C) Stemwrt

(D) ¥ & =r§ el

D) None of these
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98.

i

E% 31-

Fill in the blank._

For the removal of doubts it is hereby
declared that there shall be no

limitations whatever gn the Constituent
power of Parliament to Amend by way
of addition, variation or repeal the

provisions of thig Constitution under
Article .

(A) 162

(B) 241

(C) 368

(D) 370

When a Constitutional Amendment bill
is sent to state legislature for
ratification, the bill should be passed
by which majority ?

(A) By simple majority
(B) By 24 majority

(C) By absolute majority |
(D) By 24 majority of members present

and voting and more than half
majority of the total no. of house

1270/GE — GJ/RCE—M

op. e Tam ) gfd AR |
gt a1 g A % v, 7w hfva B

o & 5 ogede % oA T
A % Fudsi @ afEdA, afEdE @

frar % w0 i Hevm wa % R @R A
wiftrh ff o Rre w1 P

/m’mz

(B) 241"
(C) 368

(D) 370

9. v U HfawitE Tavee favas srgEndd
¥ fore, T faurmoes # S e R, @
ﬁﬁﬁﬁaw%mﬂmm?

(A) | SgTd E

(B) %4 g T

{G}ﬁtﬁﬁ'«@ﬂm

Mﬁm 3R TR FER TR
2 a@ammﬂwm%
I R e wg & g
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FahFe?
100. Cm ,-:, IFn::‘;‘:arneu:.t about the powers of 100. T=gaTe @i nifRrat % :w
i. ‘The existence of such n ity’ I. mmﬁﬁ# Tn?ﬂ
to issue ordinance ::fsbt}; i fere’ & A i s
challenged in the court aFd 2
ii. ‘The existence of such necessity’ i1, aperrerSTO e & forg et FETESHI
to issue ordinance is not a " oy iR’ v e 7E 8
Justiciable issue e fre OET
iii. Pardoning power is a subject of Al &1 5aH w0t 1 T =
Judicial Review wifaea e '
iv. Pardoning power is not a subject iv. &1 Y2F FW # i A
of Judicial Review e L] 8
A i v ®) il Wi a | v e i i
© i i (D) ii v ©) i il (D) i v
01. Which the following is unmatched | 101, usufve wdl® R HangRA T & 7
about the conditions of theé President’s
Office ? 2 90
i. He has completed the age of i, =8 35 99 1 g [ G
35 years ' ¥ B
ii. He should be a citizen of India ji. TEAR@FT AT H, 15
jii. He shall not hold any other office iii. 98 a7 fFdt Ty ¥ ® | qﬂfﬁm
of profit - _
iv. He shall be entitled of privileges v. 3 fasteTieR & e gt
v. The emoluments and allowances v. 30 Iqfeidt o v 39 wEf
can not be diminished during his ¥ 9 9 7¢ fru T wea
term of office
(A 0 i A i 0 i
®) i i v NS B) i i ivv
fi v v (C) iii iv v
B): v v e D) iv v i
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102, PrefrRmm dehi w7

102. ‘What is correct of the following ?

i. The matter related to the
dfsqualiflcatluns of members of

Parllamenjrls considered by the
Supreme Court

ii. The matter related to the
disqualifications of members of
Parliament is considered by the
President with the consultation of
Election Commission

iii. In the Constitution first chamber is
named as Lok Sabha and second
.~ chamberis named as Rajya Sabha

iv. Article 103 is related to the
disqualifications of members of

Parliament

v. Article 103 is related to the

" disqualifications before election

(A) i i
B) ii v
©) ii v
D) i v

1270/GE — GJ/RCE — M

i, dag e ) Al § Tt I
wate =amrer g faram P m

i, e el o) ardean & wfia T
frafem s $ g T TEE T
foram forg wma &

jii, dfaam 3 vuH G 1 AT S A
i el wem =1 v wn A R

¥
iv. g2 103 6 wewl 1 sriraa &
.ﬁ a o

v. 7g=ae 103 frafem g i sdraa @
. gwta § ‘

A0l

®) i v
©) i v
D) | v
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103. By which of the following name this
state has been referred in the
‘Prayagprasasti’ of Samudragupta 7

(A) Dakshin-Kosala
(B) Uttar-Kosala
(C) Maha Kosala
(D) Sibi Kosala

104. Which of the following dynasty did not

rule over this state during ancient times ?
(A) Sharabhpuriya

(B) Pandu

(C) Nala

(D) Maukhari

105. Which of the following was the first

capital of Kalchuris in this state ?
(A) Ratanpur

(B) Pali

(C) Khallari

(D) Tumman

106.
Maratha ruler of this state ?

(A) Bhaskarpant
(B) Vyankoji
(C) Bimbaiji

Who of the following was the first

106.

(D) g= .

7@ TG &1 9" T3t wees Fefaf
FaEAm?

(A) ¥E=RTq
(B) =hishl
ACY T
(D) wéwa T
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state g 'd Police officer of this
Eﬂtﬂw,&d i
[I‘nternatinnm with 1AcP

Asg
Police) Awarg in Un:a;i? of Chief of

(B) Ifan R, Khan

(C) Ajatshatr, Bahadur singn
(D) Arif H. Shaikn

against Vidarbha in R
anji Troph
match in October 2017 i

(A) Ashutosh Singh
(B) Amandeep Khare
(C) Jatin Saxena
(D) Sumit Ruikar

109. Indra 2017 is a Joint Military exercise
between which of the following
country ?

(A) India and Germany
(B) India and Russia
(C) India and America

(D) None of the above

~35- 1270/GE - GJ/RCE-M

107. w0 wn % frefarfian fee gftra sfirerh
Wi T s # smodd (fzeee
st it s s qferm) sard &
TArm Tm R 7
(A) =1, s gpeen
(B) 3t%14 Mw, @

(C) sraravery wmrqt e
(D) snfrw v, st

108. s 2017 osh Rt dm o s

mﬁﬂﬁmﬁmmﬁ@ﬁ,
% forsg S0 wiems =T 7

yrmﬂﬁnﬁm
(B) 3y @&t
(C) =fem s
(D) gt

109. % 2017 = # & T 30 & ww Sg=

dg R ?

(A) T st
(B) W@ iR w1
_e) Sitcie e ten

(D) I # = i
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110. Match the following : 110. 3R daiw N :
1. Sardar Singh a. Dhyan Chand 1. uter fée a. &M ¥4
Award gl
2. A. Amairaj b. Dronacharya 5. U, FHETS b. WW
Award aﬁj:l g
3. Roshanlal ¢. Arjun Award 3, TyAT C. i @
4. Bhupendra  d. Rajiv Gandhi 4, iz fém d. T
 Singh Khel Ratna w gE
Award .
12 3 4 12 3 4
fAJdGbﬂ {A}dcba
(B)d ¢ a b B)d c a b
(C)d b ¢ a ()d b c a
(D)d b a c (D)d b a C
] |
111. In2017, which anniversary of Quitindia | 111. 2017 # W@ SISl idter &1 il ES
Movement was celebrated ? wArs % 7
(A) 25th (A) 25
(8) s0th (B) 50
(C) 75t (C) 75+
(D) 100th /GBT 1004t
). Who amongst the following is Indias | 112. % 45 & yea i faddsmg?
45t Chief Justice ?
(A) J. S. Khehr (A) 'ﬁ. . @R
(B) Deepak Mishra _ABy e fasn
(C) T.S. Thakur (C) &1 wa. 31g
(D) H.L.Dattu (D) T&. 1. 3
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“Unstoppable :
book is written b
following ?

(A) Sunil Gavaskar
(B) Sachin Tendulkar
(C) Maria Sharapovya
(D) Serena Williams

113. Y life so far” named

Y who amongst the

114. In2017, who won the U.S. open men’s
single title ?

(A) Cavin Anderson
~ (B) Roger Federer
(C) Rafael Nadal
(D) Andy Murray

5, 9t BRICS nations summit in 2017 was -

organized in
(A) Brazil (B) Russia
(C) India (D) China

. In 2017, Catalonia declared
themselves independent from which
of the following country ?

(A) ltaly

(B) France
(C) Spain
(D) Germany

-37- 1270/GE - GJ/RCE-M

113, S W AT @ E AT
fre fRreh ® 7

(A) gher et
By afir e
(C) wnfram FrrTrdran
(D) a4t faferaea

g, T@. 39 %1 95 Uehe faaa 2017 3
e <fian ?

(A) FfF deEA

/(.B)’fl?ﬂ%t(

(C) T 7T

(D) T R

114,

115. fo=a Ui =01 gzﬁﬁmuﬁm 2017 ®
el gan ot ?
VELEIS

PURL
116. 2017 # ¥ty 3 @@ = = & e

(B) ¥4
(D) ==

& | waA v B ?
(A) Feeil
(B) W
Jerem
(EELE
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117. Jogimar cave is located at

(A) Ramgarh

(C) Lafagarh

(B) Karmagarh
(D) Kotgarh

118. Muroom Silli is located on which river ?

118.

120.

(A) Mahanadi

(B) Siliyari Nala
(C) Maniari Nadi
(D) Sondur Nadi

Which glaciers is not located in the

Greater Himalayas 7

(A) Gangotri
(C) Siachin

Match the following :

-

(B) Pindari
(D) Zemi

a. Kashmir Himalaya 1. Zoji La pass
b. Kumaun Himalaya 2. Nandadevi
¢. Central Himalaya 3. Nathula

d. Lesser Hlms;la;ya

a b ¢
A 2 3 4
B 1 2 3
C) 4 3 2
D) 3 1 2

d

1
4
1
4

Pass

4. Shimla

(B) fuferardt At
(cy wfar
(D) gk 7l

119 ey TR e e A A T
wrn (@) Fesd
(C) Reari (D) S

c. 7= fame™ 3. Jngen

dagﬂwm; 4. fimen
a b ¢ d

(A) 2 3 4 1

Br1 o2 3 4

C 4 3 2 1

M) 3 1 2 4
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The
121, part of eartp and atmosphere

supporting Iila is
(A) Biosphere
B
(C) Ecotone ;D; :::::a

122. Deoxygenated blood js carried in
(A) Pulmonary artery
(B) Pulmonary vein
(C) Aorta
(D) Carotid artery

123. Vaccine agamst rabies was first

developed by
(A) Jenner (B) Shull
(C) Pasteur (D) Goror

124. Match List— I with List— Il and select the
correct answer using following codes :

List-1 List-1ll
(Fundamental Partin:'le} (Discoverer)
a. Electron 1. Chadwick
b. Proton 2. Anderson
c. Neutron 3. J.J. Thomson
d. Positron 4. Yukawa
e. Meson 5. Goldstein
a - b e d e
(A) 3-8 1 2 4
B5 3 2 1 4
€1 2 3 4 5
D)5 4-3 2 1

1270/GE —~ GJ/RCE~M

21. et ud argrvEe 1 Wi i Sfiaa A AR

/::rf:r/m%
qrTEh (B) =
(D) ==

(C) TR

122,  siteiorrRa s R g & s s 7
(A) FoFa uwfi
(B) H¥pa fira
pokiie

123. e JadfA =90 9 g99 st A

(A) S (B) T
(C) =R (D) 7R
124, T - 19 gEN — 11 B R P S
&1 FEEal ¥ TEl I9 Safia i
it T -1
(T o) (i)
a. FoiagH 1. =i
b. WA 2. UETEA
c. A 3. 9. 9. 4TRA
d. 9isfigA 4. THEN
e. HE™ 5. e
a b c d e
(A) 18,5 i3y o4
B)5 3 2 1 4
oy 2 3 4 5
D)5 4 3 2 1
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125. Who of the following was the author of
'Siyasatnama’, a work dealing with the

institution of slavery during the reign of
Turkish Sultans of Delhi ? .

(A) Hasan Nizami

(B) Nizam-ul-Mulk Tusi
(C) Ali Kufi

(D) Minhaj Siraj

F o

126. Who of the following Sullaq_‘of Delhi

introduced ‘Tanka' and 'Jital” as the

new coins in Northern India 7

(A) Ntutamish

(B) Balban

(C) Allauddin Khilji

(D) Mohammad Tughlaq

127. Between whom of the following the
Battle of Chausa was fought ?

(A) Babur and Mohammed Lodi
(B) Babur and Medini Rai

(C) Humayun and Bahadurshah
(D) Humayun and Shershah

128. ‘Faujdar’ was the in-charge of
administration of which of the following

unit during Mughal period 7

(A) Pargana (B) Sarkar
(C) Suba (D) Thana

128, e Fr # ‘W’ frafifea 3 @ B
T & WG 1 g g o1 ?
(B) ¥R

AP ur

(A). IO
(C) @
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129.

130.

131.

.~in first'quarter

~41-

What growth rate of GDP jg recorded

2017-18n Ingig 5 " financial year

(A) 6.7 percent
(B) 7.1 percent
(C) 5.7 percent
(D) None of these

Which is not the
component of
secondary sector of Indjan Ecnnomyu?

(A) Manufacturing
(B) Electricity and Water supply
(C) Mining and Quarry

(D) None of these

:f:;t \?E:tt price, Government of Iridia
ributes rice to poor people und
P06 7 people under

(A) Rupee 1 per kg
(B) Rupees 2 per kg
(C) Rupees 5 per kg
(D) None of these

What was Bonus Distribution Period for
paddy in this state ?
(A) 2Md Oct. to 16! Oct. 2017

(B) 3 Oct. to 16t Oct. 2017
(C) 5t Oct. to 16! Oct. 2017.

1270/GE - GJ/RCE-M

129, wra # af 2017-18 % forefra ad % wuw
fomrd 1 e wte] I # P anfde

130. el efeareen ¥ fefash &9 1 HA 3
TR

(A) Rafmfo

(B) forgga wd s/ gl

(C) @ W@ I@-H

(DY i & w7

131, - YT TR TR o woed &
|t e e R e e R R 7

~(A) 1%, wfa Reetam

_4BY 2%. wf freom
(C) 5%. it e
(D) ¥ & = e

132, 3@ U9 | uH & fore Sm faam &t safy
w7
,m}::m@ﬁwaw 2017

(B) 3 JIFER W 16 IJFFER 2017

(C) 5 FFER | 16 JaER 2017

(D) ¥ & =g 7

(D) None of these
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133. Whatis “Rural Sanitation Coverage” in
India within 3 years ?

(A) 39 percent
(B) 69 percent
(C) 59 percent

(D) None of these

134. What is the share of Department of
Industrial Promotion Policy (DIPP) in
‘Invest India’ ?

(A) 49%
(B) 43.5%

(C) 51%
(D) None oﬁhese

135. Which unembroyrnent rate is more
significant in India ? '

(A) Usual status unemployment rate

(B) Weekly status unEmplo"i;mg[It rate
(C) Daily status unemployment rﬁta
(D) All above

(C) 51 wie™
Dy i & B

135. Wi ) A Syt FEeT & ?

(A) T R AT
(B) arafees fEaf U= <X
(C) e fufa el

e
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16. Match the fnlluwing in the context of
Constitutiona) Amendmanti
i. Provisi
‘ iOns related 5 By %
ii. Provisions related p, No
to Fundamenta| Provisions
Rights
jii. Provisions related ¢ By simple
to Presidential - majority
Election
iv. Provisions related d, By %
to Republican - majority with
form ratification
of more
than half
states
a b c d
(A) i i i v
@B) i Qi v
©) iv i i i
@) i v i i

1270/GE — GJ/RCE — M

136. R daiee 3 e  ghfe AR |

i, smfeERar 8 a. %3 FFT T

i, Mfers AR A b, FEuE e
grafia Iy

jil. Tgafa % frafem  c. AT AEE T
? grfua I9EY

iv. T T 'd-l%"ﬁ““m_
A grafa 3=y IR AREH T
F FgEuda T

a b c d
A i i v
@® i i v
© v i i il

Ao v i
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137. How the Deputy Chairman of State
Legislative Council is removed from his

office ?

i. By no confidence motfnr;
li. By a resolution
iii. By a prior notice of 14 days
iv. By without prior notice

v. By a majority of council present

and voting

vi. By a majority of all the members of
the council

(A) i i v

B) ii v v

© I i w

(D) i i i

137.

i, atfagama yeE g0
ji. U Gehed B
iii. 14 & & @ gE T

iv.'ﬁmméqam#
b
et ¥ age

i, g s el gt Wl 6 9 @

(A): 1 I W

(B) ii v v
Gy Mo
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9-3- Name the Person

i 3:: was appointed firsy Chief
inister of Andhrg Pradesh in 1958,

iil. Whowas Speak
erof Lok 5
two timesg, . il

iiil. Once who couldn't win the election
of President.

iv. Second time who was elected
President unopposed.

v. Who was not appointed Minister in
Morarjee Desaj Ministry,

(A) R. Ve;:kat Raman
(B) N. S. Reddy

(C) K. R. Narayanan
(D) S.D. Sharma

On which of the following date the
President of India signed the ‘M. P.
Re-organization Act’ by which this state
came into existence ? '

(A) 25 July 2000
(B) 28 August 2000
(C) 1 November 2000

{Dj 15 December 2000

1270/GE - GJ/RCE—M

138, =M™ FATFY,

i, o 1956 1 sHiw ST o o A

P o T |
i, ﬁammm%ﬁﬁmﬁ |

i, <A v g e T < T
v ah’@ﬂ'ﬂ'l’(ﬁﬁﬂ“ tlﬁqia?ﬁml

v. For shvereh e 3 3 e 3
Frga i Feam & )

) . ST
(B) T. wE.
(C) %. R, TR,
(D) wa. <. 7

130. ﬁn%ﬁaaﬁﬁﬁaﬁrﬁaﬁl a3 TEHi

T e e SRbE T

(A) 25 FeT§ 2000
(B) 23%200(5
Y"1 Fara 2000
(D) 15 R 2000

Scanned with CamScanner



s

140. Which of the following group was

141,

142,

143.

established by Ramchandra
Deshmukh in the field of theatre in this

state ?

(A) Naya Theatre
(B) Sonha Bihan

(C) Bhatra Nat

(D) Chandani Gonda

In this state '‘Bharthari’ is known as
which of the following style ?

(A) Folk Theatre
(B) Folk Song
(C) Folk Dance
(D) Folk Music

In Rajyotsava 2016 of this state the
‘Ramleela’ of which of the following

country was performed ?
(A) Indonesia (B) Cambodia
(C) Sri Lanka (D) Laos

'Gﬁakradhar Samman’ for -music for
2016-17 of this state was given to who

of the following ?
(A) Mamta Chandrakar

(B) Vinod Kumar Shukla
(C) Rajkamal Nayak
(D) Shekar Sen

12?NGE-GJ*‘“°E"“
#
140. mmmamwmﬁﬁ“’“
ﬁqmmaﬂamﬂs(m?“'““
fFmomm 7
(A) = forme
8yt fer
(C) wan e
(D) =it mitan
141, 'mmﬂ'muﬂ'ﬁnﬁffmﬁﬂmﬁm _
Fwqyd s g7
(A) S 2
_ABY =i i
(C) vit& 73
(D) =i wfta
142, <@ 7T % Tedieas 2016 F FERiEd 7
ﬂﬁmﬂmﬁ‘tmaﬁm’ﬁrﬂmﬁmw?
{B}a:ﬁh&ﬂf
(C) iz (D) =T
143, mmmﬁwﬂaﬂ:ﬁmzmeﬂmw '

T TN, B DN T ™ mm T

TR’ fiefafed § @ R R ?

o T

(B) forfie Fwm =t
(C) T=TehAE AT
(D) TR &
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145.

146.

-47-

Which route is declargg

fo
first Bullet train i, India F running of

?
(A) Mumbai — pyo
(B) Mumbai — Ahmedabag

(©) Mumbai ~ Nagp,

(D) Delhi - Agra

In which of the following piaca Nag

Missile was tested by DRDO ?
(A) Gujarat

(B) Rajasthan

(C) Odisha

(D) Keral

Border of which state of India is in
Doklam region ?

(A) Nagaland
(B) Arunachal Pradesh
(C) Sikkim

(D) None of the above

1270/GE — GJ/RCE—M

144, sive ) el e 3 P w2 TR A

AR ?
(A) Trd -

51 e - s
(C) tf - A
(D) freeht - s

145, #3m.4.3h, % am Ruria = e B
%} fFg ram w B 7

(A) T=TE
o
(C) 3fEm
(D) ¥

146. Srwem & { WA F R wRu R Em ?

(A) TR
(B) UM Waw

gl

(D) SR # F = 7
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147. Who won the Shanghai Masters Tennis
title in 2017 7

(A) Roger Federer
(B) Rafael Nadal
(C) Andy Murray
(D) Novak Djokovic

148. Which of the following is a first country
to extend citizenship to Robot 7

(A) Germany
(B) France
(C) America
(D) Saudi Arab

149. The winner of 2017's general election
Shinzo Abe is a leader of which country ?

(A) Korea
(B) Japan
(C) China
(D) Iraq

0. Nobel prize awardee Richard H. Thaler
is who amongst the following ?

(A) Sociologist
(B) Economist
(C) Political expert
(D) Psychologist

(D) ¥=

150. et geeaR & gt fed o, S B
FARAR?

(A) EHTSTITE
/(,Bj/m‘!fm'a‘t
- (C) Terife g
(D) WA
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